Day 3 — Quadratic Equations and Inequalities

Task 1

Suppose h(t) = =5t + 10t + 3 is the height of a diver above the water (in meters), t seconds after the diver leaves
the springboard.

1. How high above the water is the springboard? Explain how you know.
a. 2. Approximately, when does the diver hit the water? Can you calculate this multiple ways?

b. 3. During what time span on the diver's descent toward the water is the diver below the springboard?
4. When does the diver reach the peak of the dive? What was the maximum height?
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2. Approximately, when does the diver hit the water? Can you calculate this multiple ways?
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3. During what time span on the diver's descent toward the water is the diver below the springboard?
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4. When does the diver reach the peak of the dive? What was the maximum height?
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Task 2
Directions: Using the digits 0 to 9 at most one time each, fill in the boxes to so that there is only one
solution.
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